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' Section-A
Q.1: _-Choose the correct answer for each from the given options:
(i) If"b"is a real number, the point (0,b) tiesin/on...............
(a) 2-quadrant (b) 3-quadrant (c) x-axis (d) y-axis
(ii) x+4=yandy=6=?x+4=6, this propertiesiscalled ..............
(a) Reflexive property (b) Symmetric property
(c) Transitive property - (d) Additive property
(i) Totalnumberof digitsin225are...............
(a)8 (b)9 (c)10 (d)11
(iv)  Thedegree of the polynomial x2 + Xy2+yis....... ae
' (a1 (b)2 (c)3 (d)4
(v) LCMofx+8andX+2iS ........ceerruerenn.n.
(a)x+2x+4 (b)x-8(c)x:+8 (d)x+16
(vi) Ifa+tb=2anda0b=2,thenthevalueofa: +bris.............
(a)2 (b)3/2 (c)-1 (d)4
(vi)  The method of obtianing a relation independent of any particular variable is called ...
(a)Rationalization ~ (b)Addition (c) Elimination (d) Equation
(viiiy IfA=] ],thenad-bciscalled.................. of matrixA.
(a) Conjugate (b) Determinent (c) Transpose (d) None of these
(ix)  The solution set of the simultaneous equations x + y=5and2x-y=7is.......
(a){4, 1} (b){(1,4)} ©){4.1)}  (d){2,3}
(x) Ifq, p, rare in continued proportion, then .../.........
(@p=qr (b) P:=(qr) ©P=gr  (d)P=qr
(xi)  Sumof 10 observations is 125, the meanis ........

(a)12.5 (b)1.25 - (e)1250 (d)None of these



(xii)  The angles whose arms form two pairs of opposite rays are called .............

(a) Supplementary angles (b) Complementary angles

(c) Vertically opposite angles (d)Adjacentangles
(1711 ) S, is the point of concurrency of the medians of a traingle.

(a) Centriod (b) E-centre - (c)Orthocentre (d) In-centre
(xiv) Ifthe corresponding angles of two polygons are congruent then their corresponding
sidesare..........

(a) Congurent (b) Equal (c) Proportional (d) None ofthese
(xv) IfR={(a,b)},(c,d), (e, f)} thenRangeR=..........

(a){a,b,c} (b){b.d,f} (c){ac,e}  (d){de,f}
(xvi) Froma pointoutside thecircle ......... tangent can be drawn to the circle.

(a)1 (b)2. (c)3 (d) None ofthese
(xvii) If(x-1)(x+3)=0,thenx=..........

(a)1,3 (b)-1,-3 (c)-1,3(d)1,-3
(xvii) Ifa:b=c:d,thena:c=b:dthis property of proportionis called ...........

(a) Dividendo (b)Alternendo (c) Invertendo (d) Componendo

(xix)  Which of the following statement is nto true.
(a)cos10-=sin80 (b)tan 30 =cot 60 (c)sec 35-=cosed 65
(d)tan 30-=1/cot30:
(xx) Cosec(90:-0)=.......... .
(a)sin (b)cos (c)sec g (d)None of these
Section-B
Note: Solve any TEN ofthe following questions. Each question carries 05 marks.
Q.2: Listallthe relations on the set {0, 1}. How many of them contains the pair (0,1)?
Q3: ifx=  5-2 ,thenfindthevalueof x'+—
Q.4: Findthelogarithms of 16 tothe base2/2 .
Q5:  Ifx-y=2 /2 ,thenprovethat:x-y-6/2xy=16/2
Q.6: Forwhatvaluesof pand q, x:+4x-+ 10x: + px + q will be perfect squar?
Q.7: Solve any ONE of the following equations.

(i) 2"5'3 = X223 i) /273 =3y 74

Q.8: Eliminate "x" from the equations:x + 1/x=2p. x- 1/x=2q+1.

2 2 2_ 2
Q.9: |Ifa:b:c:d,thenshowthat: a-c’ _ b-d
ac bd

Q.10: Solve ABCwhen LC=90, mLB=60-anda=2cm
Q.11: Calculate the arithmetic meanwhenD=x-100, XfD=400 ... ........ =400and.



Q.12: If two angles of a triangle are congruent, the side opposite to them are also
congruent. Prove it. ‘
Q.13: Ifaline is drawn perpendicular to a radial segment of a circle at tis outer and point, it
is tangent to the circle at that and point. Prove it.
Q.14: Solve the equations by using cramer'srule : -72x +y 6, 26x + 18y =2.
Q.15: Define any TWO of the following terms and draw the figures.

(i) Vertically Opposite Angles (i) Alternate Angles

(iii) Inscribed Angles of an Arc

Section-C

Note: Solvean O of the following. Each question carries 15(8+7) marks.
Q.16: Factorize any FIVE ofthe following: )

(i) r+4x: (i) a-a+2
(i)  27x-1+8y-+18xy: (iv) xy: -2 1/xy:
(v) 1-x:-y: + 2%y (Vi) 5(2x+y) - 13(2x+y)-6

(Vi) x(y-2z) +y (z-x) +2z (x-y)
Q.17: (a)Constructa ABC such that mAB = 4.5cm, mBC =5cmm B =60°andAlso draw
its circumscribed circle.

(b)  Findallthe values of trigonometric ratios of 45-
2 3
Q.18(a): IfA =[4 51 then prove that |A{ = 1/jA]
(b) Reducetoasingleterm: 1/3 log,(x-1 )3+ 10/91log,(x+1)-1/9 log( x + 1).



